ZA\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TD} - DR XXX - 6'8, 7' & 8' CC Opaque FG Nonlmp IS Dir Set Sidelites (TX 5152-5157)\C - Drawings\TX-5152-53.dwg

THERMARTRU

DOORS

Classic-Craft.

OPAQUE FIBERGLASS DOUBLE DOOR
w/ DIRECT SET SIDELITES

INSWING
"NON-IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & Ré0% and the 2018 International Building Code
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment fo
base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is required to be
protected with an impact resistant covering that complies with Section R301.2.1.2 of the
IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the design pressure
rating shown in the design pressure chart, sheet 1 of this drawing.

4. Conditions not covered by this drawing are subject to further engineering analysis.

TABLE OF CONTENTS
SHEET # | DESCRIPTION SHEET #
] Typical Elevations, Design Pressures & General Notes é Vertical Cross Sections
2 Door Panel Details 7 Frame Anchoring
3 Sidelite Panel Details 8 Hardware Details
4 Elevations 9 Bill of Materials & Components
5 Horizontal Cross Sections

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

3, 3 B
R RRTRRGRS

P.O. Box 230 Vairico FL. 33595

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F-11852

108.5" MAX O.A. FRAME WIDTH
15.5" MAX. | '
ERAME WIDTH I 74.5" MAX. FRAME WIDTH ————I
J J
<
o8
& O e O
2w L)
= g X X
Qe
l/// 4///
1.5"
(TYP.)
2X DESIGN PRESSURE (PSF) DESIGN PRESSURE (PSF)
CONFIGURATION | REINFORCEMENT | ASTRAGAL w/ FJ PINE JAMBS w/ COMPOSITE JAMBS
REQUIRED POSITIVE | NEGATIVE | POSITIVE | NEGATIVE
X0 NO STANDARD +40.0 -45.0 +50.0 -50.0
YES COASTAL +50.0 -55.0 +50.0 -55.0

)
Ly
=
(75
o &
S <
o0 N
(1 2 Ly
= S=
I e =L
<0 |15 <©
23 |12 oy
b=
wu® 5 @
IX lol “wn
Fm n
U “:%
- i Qm
S S| &o
fa] . t""‘
g |y =
0. o
>_
m
)
Z
o
%2}
4
Lt
S
o
Z
DATE: 1/06/21
scale: N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
TX—5153

SHEET ] oF _ 9

© 2021 R.W. BUILDING CONSULTANTS INC.



Z\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDi - DR XXX - 6'8, 7' & 8' CC Opaque FG Nonlmp 1S Dir Set Sidelites (TX 5152-5157)\C - Drawings\TX-5152-53.dwg

| ].48" e 139" 4
0.4" — [—-* -»1 le— 0.4" 0.31" —= k—— ...I
NS = N =
S 5 S s 8
/ \ Locé STILE OAK CAP OAKéAP HINéE STILE LOC'Z STILE OAK CA
?@égﬁf (E*l}“ﬁi,g'(éi, (ENG. WOOD) (WOOD) (WOOD)  (ENG. WOOD) (ENG. WOOD) (WOOD)
m HORIZONTAL CROSS SECTION m HORIZONTAL CROSS SECTION
\2/ \2/
36.0" MAX. 35.813" MAX. 35.813" MAX.
DOOR DOOR ——] ~——  DOOR
PANEL WIDTH PANEL WIDTH PANEL WIDTH
$2 |
TOP RAIL:
I ‘ y " (comp) R
Sii=|= | Elets sh H—
7 % 2
N2/ * IIT———FoAM CORE—"|]"_
o o O
<C < <
2 ol t & olt £ it
g ol 8 -
(&) 'y [} -1 [&] -1
> X } > X 4 = X !
<C <
= = = |
8 & 3 ATTT—rBERGLASS— ||
& o N SKIN -
| | | e |
> > > °© A —somomrar—"|L
COMP.
‘ DOOR PANEL . DOOR PANEL . DOOR PANEL } 17— ( )
BOOK Hybrid Door U1 Door )
"Classic Craft" SERIES DOOR PANEL

FIBERGLASS DOOR SKIN: 0.095" MIN. THK.
FOAM CORE: POLYURETHANE FOAM (1.9 PCF MIN.)

/"3 "\ VERTICAL CROSS SECTION /4 \ VERTICAL CROSS SECTION

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

| ogar |-

P.O. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.89197

Documents Prepared By:

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

THERMA-TRU

FIBERGLASS DOOR
DOOR PANEL DETAILS

PART OR ASSEMBLY:

PRODUCT:

1.7

= 0.94" j=—

NOJ DATE

REVISIONS

DATE: 1,/06/21

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

\2/

\2/

DRAWING NO.:
TX—51583

SHEET 2 oF 9O

© 2021 R.w. BuiLoing CONSULTANTS INC.




ui
R
112 —=|  |=—1/2" GLASS BITE 58, fo
i Ex o 8
: 5 B z-
g : 0 g M % T
3 i wh = ek
§ : c ) E-‘ 2 L
9 iT: o g E 0? 3
PVC INSERT 4 izie & g8 280 53
——1"O.A. THK. GLASS HEEAN 5" 5Ee ot
G1)G2 i a>n ﬁé
BACKBEDDING ot E LGS 58 c&
COMPOUND ™| o 1/8" TEMPERED ——{  |=—1/2" GLASS BITE Mgid i T OIS
: ° &
\ GLASS : 28 : 55
% 18 GA. X 1" BRAD NAIL % ® Bok £%
(LOCATED 1-1/2' FROM ENDS N S~ S
- 0
) & 4" O.C. THEREAFTER) D \ AIR SPACE PVC INSERT —— 3/4" O.A. THK. GLASS s & &
11 3 E ©
BACKBEDDING — | i/ N reReD Bég',fffgmf ~_ g
COMPOUND STEEL SPACER / 1/8" TEMPERED
) GLASS
1"\ HORIZONTAL CROSS SECTION GLAZING STOP (7/16' 18 GA. X 1" BRAD NALL S 0
3 (1) SihziNG beTAL O HeReAPTR) ARITACE « | E
1" Insulated Glass A 1 1/8" TEMPERED @g &
BACKBEDDING — GLASS i
15.5" MAX. COMPOUND Se |3 =
FRAME WIDTH STEEL SPACER 53 |3 o
13" MAX. GLAIING STOP (7/16') EE |7
D.L.O WIDTH gl R | 8
C) GLAZING DETAIL = ol
/ 3/4" Insulated Glass o kE
/// o &
' >
m
AIR SPACE AIR SPACE
TN 1/8" TEMPERED 1/8" TEMPERED 1/8" TEMPERED 1/8" TEMPERED
e £ (] - GLASS GLASS GLASS GLASS
5 9 \3/
¥ T 2
L 9 vl g g 2
L o O EXTERIOR 4 INTERIOR 1" O.A. THK. GLASS — —— é w 3/4" O.A. THK. GLASS — —— (SD w 2}
o R ’ T % n 2
o™
%( = STEEL SPACER = STEEL SPACER =
z n
y 9 GLAIING STOP N __W____i GLAZING STOP L f
~ (7116") (7116) ‘
= | | ;
] BACKBEDDING ' BACKBEDDING S
/ SIDELITE COMPOUND SIDELITE COMPOUND X
7 s , e ADAPTER ADAPTER S
. = GLAZING DETAIL GLAZING DETAIL bATE:_1/06/21
i C > 1" Insulated Glass () 3/4" Insulated Glass scAE:  N.T.S.
2 DWG. BY: RW
CHK. BY: LFS
/ 2\ VERTICAL CROSS SECTION e
@ DIRECT SET SIDELITE FRAME NEW X—5153
SHEET _ 3 oF G

ZA\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR XXX - 6'8, 7' & 8' CC Opaque FG Nonimp IS Dir Set Sidelites (TX 5152-5157)\C - Drawings\TX-5152-53.dwg

© zoz1 RwW. BuiLpIiNGg CoNsSuULTANTS InG.



TONE SINVATIISNGD 9aNiging "M'd LZ0eZ @)

TS8LL—d4 # NOLVMISIORM 40 ILVOLALYID SNOISIAJY
SHIINIONI WNOISSIH0¥d 40 Quvos SvXIL SNOLLYAT I Ad 31va [ON}«— = v 9_
. cco . QH% 21 ™
L616°699°CLE UON ououd : ) 0
cesee oy e e o \SV@. XTANISSY 90 L1avd W 5 “EL 2
"ONI ‘SINVITINSNOD ONIaTIing : ~N 2 | 4_
4004 SsY1oy3gld — 18l Ele X
SZLHOLHF I'd SwXEL NAL—VALIHL 5] ¢l x|E &
‘A'd WPILYDS ‘4 uopukl Ag pedpdedd sjuswinooq 10oNaodd 3 W S w 5
/L
—
S
o
St
v
i iU
o oc
[T7 e 0
%]
B LL
of o
B2
X : = 2
NNM &Juw\o.q ‘...W»kxmm\l - O o O
0y et QY L R|an
hind J0 3 el
CTTTR” = T
w——l —t
&5 m e m
23|23
O | O
il
(T) i
(%]
= | 2
5 =
9 S

]

Ny
O
/
4
<,

SEE HARDWARE CHART

ELEVATION
OXXO

T T T I

Classic Craft Door Panel Options
Panel options shown are for illustration and are representative only
{similar opaque panel configurations are allowed)

BMp'es-25LS-X1\sBumeiq - D\(LSGLS-251S X1) SeMSPIS 185 41 St dwjuoN 94 enbedO DD .8 78 .L 8.9 - XXX ¥Q - 1AL\sU| J0 1daq sexa) - S\LNINYINYId NiL BWIBY\SUBID\Z



"ON| SANVYLIASNGD aNIgUInNg Mo Lz2og @)

ZS8LL—4 # NOILVMISIOZY 40 ILVDIALLMID SNOISIAJY
SHFIANIONI WNOISSZJONd 40 Q¥vO8 SvxalL mzm@ﬂm%ﬁmwmmo A8 31vd [ON|«~ =0 m 9_
: S 0
LBLE'6GEELE : e v
CESES 14 OdWIDA Fcn..Ncv_momwr..ﬂﬁ\&éu@u ‘ATBNISSY ¥O Ldvd W W — i 5 &
‘ONI ‘SINVLIINSNGD ONIaTing Y g 1 5_
4000 SSv19o438l4 — {&lsle &=
€ZLYOL# 'I'd SvxaL . ‘ NAL—YWHIHL i m olx|Z &
A'd IPHUYDS 4 Uopukl Ag paiodeld sjuewunoo(g :1oNQoyd SIS1E1S w 5
sz /L
eprroees @
¥ (®)
-
® E
L
- \Q Al
Q) 2
o oz Qe
o) Q —f
& i =(8
= z 3l
] 2
// Q) Sls
’ S S
x5
3 B ®
® B
o 4
< )
2 ©
® £
P
O
o)
Qs
o & S
5 z
N

I/

O

4

==

&

& =

. <

£ g
4 [274

/‘..‘ a
L4 ‘/_

1

?

2

© ®

/3" HORIZONTAL CROSS SECTION

\U Shown w/ 2X Reinforcement

eQ 2 oo

A\
A\Y

[

D)

3

W\
W

/"1 HORIZONTAL CROSS SECTION

DS

EXTERIOR
INTERIOR

BmpE5-2515-X1\sBumel - DVLSL5-251S X1) SeHBpIS 185 Jig S| dwiuoN 94 anbedO 5D 818 .2 '8.9 - XXX Ya - 1Q1\sul J0 1d3( sexa] - d\LNINVINYId NiL euwsy\susid\Z



CON] SANVYLIMINSNGID aNIaing "m's L2028 [@)]

2S8LL—3 # NOUWVMNISIOZM 40 ILvDIILYIO SNOISIAZY
SHIANIONI TYNOISSIA0¥d 40 QuVO8 SVXIL mzo&%%%mw\m,omo Ad 31vd [ON|«— =ln] . 9_
N i
L6L6'6SO'ELE TON suoud : Nk 0
GBGES 14 ODUIDA OCZ Xog 'O'd \h\@@ ‘ATENISSY ¥0 Livd nnan m ~ 5 &
"ONI ‘SINVLINSNOD ONIQTing N g 6_
¥00d SSY1943gld = |&lgle X
CZLPOLF I'd SVXIL NYL~YWe3IHL i slyelE &
‘F'd ‘IPIUYDS 4 uopukl :Ag peutpdeig sjuswnsog :10N3a0dd S ElS w 5
\N \‘h
s m
2 a &
i S 5 z
2 £ 0 O
o - m
8]
-~
sl= g
g2
® mw
274
= 8 (®
o 5
m* £ 2
& O
] [ 1]
& 2]
g
O
o
O
1 -
Iy <L
o
)
&
L , @ 8
\ \ i oo
@ Z
=
<
z
S
[+
fa)
3R]
fy
o
o £ =
¢ 58
o O
x (o)l
o v
& S
> © I~
- O
2 =
< =2
: N 5
5 7 >
& 5 Z
o o
: N P
3 N
5 \
; m_
C ORI
723 o o]
£ g = 0
" : O
= = o o
3 R ® 7
(9]
< ~ 3
© )
> vy
) 7]
= 2
-
8 - Y
£ N <
e
2 \ W
mw - o
—d
: : @ §
o > =
o] [« zZ
3 8 Ol
32
3 ®
(]
(32
3k
&
D2
Ol=
BIn
Zl=

BMP E5-2SLS-XL\sBuIMRIQ - D\(Z515-2515 XL) SoMBpIS 185 1 Si duijuoN 94 anbedO 2D .8 .L '8.9 - XXX ¥a - 1d1\su] J0 1daQ sexay - S\LNINVINYId NiL euByI\SIuSID\:Z



Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of ins\TDI - DR XXX - 6'8, 7* & 8' CC Opaque FG Nonimp IS Dir Set Sidelites (TX 5152-5157)\C - Drawings\TX-5152-53.dwg

P g
Ferio £% 9,
LB g Lo
oy i3 EX 8 U3
. pre N R S o9 B-
} Suid 10 2 E0s Bl
’;.;O':. SLL : I PRS2 g%
g \Y 2w iz gg Eeod 3
- f (3) #8x2-1/2" | &&n iR g ZE£3 99
FNUIIN s : A 4 0¢ @ B
PFH WS G iZ 3>m {ﬁé
g JAMB TO HEAD DETA i Rk . 58 &8
. P ETAlL g ® Ovy EY
(TYP)) . oxS . E
1 P g8 5%
/4 8 35¢8 gu
TOE-NAIL DETAIL @ HEAD £ BeR 3%
TYPICAL @ EACH 2X REINFORCEMENT 2 § £
ASTRAGAL JAMBS/MULLION NS g
Y 3 [
m 4 (TYP.) —— £ (TYP) ——f |=— 8
4 (1YP) - VP /@
} < I +
T Iy T 1 TUKT 1 LT 1 N
- I = T x| E
i SEE DETAIL 1 o 1o 1. ©
[l (sHEET8) =y =3 =
- - I - o I |3
[ Y w =
1 £ |4 &
/ HEAD & JAMBS | & x
o}
2X FRAMING - _ R I SR S E
(TYP.) ¥ & &
|| &
|| BACKTO-BACK I
P K 2X REINF.
] (TYP.) X
DOOR FRAME 1 e
(TYp) WOOD o | SEEDETAL2 =3 2
concrete(D) ||/ BHEET8) %
_ _ SILL | _ é'
TYP. FRAME
7\ woon (@) AT
CONCRETE o Ly
<C
OXX (VP /-‘i S
f o
) =z
WOOD Q = oATE: 1,/06,/21
seAE: N.T.S.
CONCRETE o DWG. BY: Rw
FRAME ANCHORING TOE-NAIL DETAIL @ SILL o B LFS
TYPICAL @ EACH 2X REINFORCEMENT DRAWING NO.:
TX—5153
SHEET _/ oF 9

© 2021 R.W. BUILDING CONSULTANTS INC.




"ONG SINVITIMSENDD aNIoINg "M'd L2202 O

2581LL—4 # NOUVHISIORM 40 ILVOLILLNID SNOISIAIH :
SHIINIONT WNOISSAJONd 40 qQuvod SYX3L SIVIIA THVMANVH Ad 4ivd [ON Slalslol w 9_
aaar . %) it
LELE'BSY'CLE "ON SuoYd : N 0|y
GEGES 714 OOUIDA OEZ ¥od ‘O'd \N\Mﬂg ‘ATENESSY d0 Lavd 9 m ~ .58
*ON! ‘SINVLINSNOD ONIaUng | R g 1 8~
4000 SSY19438I4 PR AR
SZLYOL# 'T'd SWXAL NL-YAYIHL i m glyl|Z &
"I'd IPIUYDS 4 Uopukl Ag pedodeld sjuewunoog 10Naoud 318 W S W 5
/2 - I

2X STUD
BACK-TO-BACK

HINGE DETAIL

® <o

S
(®) wos
Q CONCRETE

GWVT 40 . 400a agAH/ LN

dOLWO¥H .SZ1°1L ('dAL) G262 Y/
GWVr 40 B ¥O0a Y004

dOL WO ,5Z°11 ('dAL) .ST'62

Inswing

HINGE JAMB
ARY
DETAIL 2

SEE HINGE
DETAIL (TYP.)

Coastal Astragal Strike Plate @ Sill

LATCH & DEADBOLT STRIKE DETAILS

=
)

“‘|rm_t _3||)|D' .m
:m.m. 1K
m - ] o 3
HE A\ £
\ R :
o L
= o
53 . 2
= Q7= ~ QO
MDm =
EMD \@. Am
gl Hd
o3 g Dmu
£
<
ke}
i\ 8
\ Q

& l
LATCH & DEADBOLT DETAIL
Schlage / Kwikset

gy

BMPE5-25 L5-XI\SBUIMBIQ - D\(ZG1$-Z5LS X1) SeMepIS 195 2 St dwiuon D4 anbedO 52 .8 18 .2 ‘8.9 - XXX ¥Q - 1QL\su| jo 3daq sexa] - G\LNINVNYId NI BWIBYINSIISID\Z




BILL OF MATERIALS .,~:}»“~7‘"‘f'“§‘ug g_i n
TEM # | DESCRIPTION MATERIAL Sarring 4yl 23 0.
B | 2XBUCK (G >= 0.47) WOOD So iEET X 2 i3
C_ | 1/4 MAX. SHIM SPACE - FRINLIO HEELIEN
D 1/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL E'\,’ ; . ‘ Q 323‘*%& ‘; ‘; r § :j*
F__ | #10X 2 PFH WOOD SCREW STEEL T 456 | © .0 g g § 284 23
L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMBEDMENT) STEEL +— ‘??‘f'/;;'.,‘ HER > 5% § ok
Q #10 X 3" PFH WOOD SCREW (1.75" MIN. EMBEDMENT) STEEL "j "Zlh%: «x > " e ;'Z; g® E%
R 3/16" X 3-1/4" TW CONCRETE SCREW STEEL Madont™ & NN ,‘fg
X__| 2X REINFORCEMENT (SG = 0.55] WOOD ! 3 28 by
1 WOOD JAMB (FINGER JOINT PINE ) WOQOD ! 2.36" ! in § 54 § 2 B
2 | COMPOSITE JAMB COMP WOOD JAMB S 456" | . “‘§ 58
7 WEATHERSTRIP FOAM 1 [ l 3 fg é
8 | DOOR SWEEP VINYL J— ' R E & 5 3
10 #10 X 1-1/2" PFH WOOD SCREW STEEL 8
19 STANDARD ALUMINUM ASTRAGAL ALUM
20 COASTAL ALUMINUM ASTRAGAL ALUM 212" ] *
22 #8 X 3/4" PFH WOOD SCREW STEEL
23| #9 X 3/4 PFH WOOD SCREW STEEL (g yCOMIOSTE JAMS x | 9
24 #9 X 1" PFH WOOD SCREW STEEL @8 éhz_,
25 #8 X 1-1/2" PFH WOOD SCREW STEEL Z& g E%
26 #8 X 5/8" PFH WOOD SCREW STEEL =3 g' f%
27 LATCH STRIKE PLATE STEEL 2.08" — L'Ii'g § oo
28 DEADBOLT STRIKE PLATE STEEL : [” .. % < d%
28A | DEADBOLT SUB STRIKE PLATE STEEL T § & -
29 | 4'X4"HINGE STEEL _f SIDELITE " 8 3
32 INSWING THRESHOLD ALUM/COMP i & o o
33 INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP L >
40 | DOOR PANEL (BOOK) - =l —— L l ®
41 DOOR PANEL {HYBRID) - INSWING THRESHOLD
gg gg&ﬁg?ﬁf&é{m ) - 32 Adjustable Composite Sill 5.83"
80 | ASTRAGAL STRIKE PLATE STEEL 33 INSWING THRESHOLD w/ SIDELITE ADAPTER n
Composite Sill _C22
1.91" ~—e] %
[" r 1.91" —f o |
CONCRETE ANCHOR NOTES: N 1 U N ‘
. Concrete anchor locations at the comers may be adjusted fo maintain the min.
edge distance to mortar joinfs. -
. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to THERMAL —>H<— 0.063" ?gg FLUSH BOLT —~>”<—‘ 0.063" 9
maintain the min. edge distance to mortar joints, additional concrete anchors BREAK ~ o "
may be required fo ensyre the "MAX. ON CENTER" dimension are not exceeded. FLUSH z
. Concrete anchor table: 5
: TETEARANCE TN CLERRANG FLUSH BOLT -~ BOLT 1 Hétés{:‘zgér 0 .
RETAINER ' g
arcon® | V& | e z & 00es oo oA 1,/06/21
COASTAL ALUMINUM ASTRAGAL ScuE  N.T.S.
US:\:&L)TN o e 1-3/4" " 4 @ STANDARD ALUMINUM ASTRAGAL 20 p— RW
mreon®| Y€ | v ¥ 1z e
WOOD SCREW INSTALLATION NOTES:
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of TX-5153
wood screws fo prevent the splitting of wood. SHEET 9 oF 9

Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TD! - DR XXX - 6'8, 7 & 8' CC Opaque FG Nonlmp IS Dir Set Sidelites (TX 5152-5157)\C - Drawings\TX-5152-53.dwg

© 2021 R.W. BUILDING CONSULTANTS INC.



